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— RS ST HE — A% R2.5.8~5.20 33 28 2 1 14.0
— RS ST HE mhH oK AT EA R2.5.8~5.20 77 73 2 0 36.5
RERE MEIE | R2.5.8~5.20 0 i i i i
1RAEED R2.5.8~5.20 1 1 0 0 -
"/t R2.5.8~5.20 2 2 0 0 -
4 RE; R2.5.8~5.20 1 1 1 0 1.0
fEEit R2.5.8~5.20 2 2 0 0 -
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— RS ST HE mhHk oK AT EA R2.10.1~10.5 62 26 3 0 8.7
1RAEED R2.10.1~10.5 0 - - - -
R R2.10.1~10.5 - - - -

62 26 3 0 8.7
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— BB (BT —h% R2.7.12 78 75 5 2 15.0
{RIEED R2.7.12 0 - - - -
T RE R2.7.12 1 1 1 0 1.0
R R2.7.12 0 - - -
— BB (RH) —i% R2.9.20 70 54 5 2 10.8
— BB (RH) S R2.9.20 3 3 1 1 3.0
{RIEED R2.9.20 2 2 2 2 1.0
HeEutt R2.9.20 2 2 0 0 -
T RE R2.9.20 1 0 0 0 -
JEE0: R2.9.20 0 - - - -
157 137 14 7 9.8
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